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QUESTION 1

What is the IP address of the XtremIO storage controller TECH port? 

A. 168.192.1.1 

B. 168.192.1.2 

C. 169.254.254.1 

D. 169.254.254.2 

Correct Answer: C 

 

QUESTION 2

What should the maximum number of full clone operations be configured for a VMware ESXi host using XtremIO
storage? 

A. Four times the number of X-Bricks 

B. Eight times the number of X-Bricks 

C. Sixteen 

D. Thirty-two 

Correct Answer: B 

 

QUESTION 3

You have been asked to install an XtremIO dual X-Brick array. In which guide is the required network firewall
information located to inform the customer? 

A. Site Preparation Guide 

B. Operations Guide 

C. Software Installation and Upgrade Guide 

D. Installation Summary Guide 

Correct Answer: A 

 

QUESTION 4

How many SSDs are located in each XtremIO storage controller? 

A. 0 
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B. 1 

C. 2 

D. 4 

Correct Answer: C 

 

QUESTION 5

An XtremIO storage array reports an overall efficiency of 10:1. Which combination of Deduplication Ratio (DR),
Compression Ratio (C), and Thin Provisioning Saving (TPS) would achieve this efficiency? 

A. DR = 2.5:1; CR = 2.0:1; TPS = 20% 

B. DR = 2.5:1; CR = 2.0:1; TPS = 50% 

C. DR = 5.0:1; CR = 1.0:1; TPS = 33% 

D. DR = 5.0:1; CR = 1.0:1; TPS = 80% 

Correct Answer: B 
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